MFM2P NUMERACY REVIEW — DAY 4 — NOTE DATE:

ORDER OF OPERATIONS

When calculating expressions, we follow the order of operations.

Order of Operations Example 1 Example 2
1. Simplify the brackets. Simplify Simplify
2. Then simplify powers. -32-4)—-(2+4) (=2)( 4) + (=3)?
3. Multiply and Divide. _ -
4. Then Add and Subtract. = 73-2D - (2) = (DX + 9
B - Brackets S ! I
E - Exponents (powers) T T e +9
D - Division - ;
M - Multiplication - = 3
A - Addition

S — Subtraction

Examples
a) Is3+6x2—-8equalto7 or 102 Use BEDMAS to help you find the answer.
= 3+12-9
- } S "\6
= 3
[11+7],
b) How do you evclucte\'[q 39 ¥ Complate. REDMAS o~ Yhe TP
@ & loottom Seporeely untl W
S have ene # lef+ "on e ¢
b One % 11 the \ottdom
= S ¥ then divide
SIMPLIFY — USE THE ORDER OF OPERATIONS
2) 5-(3-4) b) (-3-2)2 - (2+4)
- 2 2
R D) = (-8)" - (L)
= D) = &%~ 3b
= o g = 3
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c) (ZL:_S) + 2(3_:f1) d) 2(-3)%-4(-2)

A S e 2 2(Q) - HG2)
= | — & * S
= -\ = Q-L

e) 5+12x8+30+6+8-5

f) -(3-5)x(2-4)
S54+QL +30—b+ 35

L}

< (Z2) * (D)
: s4aL+SHEO

= Q.xL—?J
- \Q\ A S"{'%'—S = -——k\_
> o+ S
= \\L\""S
= 109
g) (4—2)*x6+8 h) v3(18 =6)
T R TET - o
= Ly vl &% = \Tg\:
= aY% —% r b
2 B

i) 4+[6-(9-4)] )3(2+4) - 2(-4+ 1)
L++Y_h—(5ﬂ -3 (- atfj‘

It

= oo "3’(—%)—2(‘0
= S = a“x—@
- a4y ~\S
= b
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